

Wedding Rates | 2020

PART OF THE CALCOT COLLECTION

CALCOT & SPA

BARNSLEY HOUSE

The
VILLAGE PUB
— at Barnsley—

THE PAINSWICK

LORD CREWEARMS

Your Wedding at Barnsley House

Barnsley House was built in 1697 and having gained international acclaim as a place of remarkable beauty, the house and gardens provide the perfect backdrop for a traditional country wedding.

There are 18 individually designed bedrooms, The Potager Restaurant, a private cinema and The Garden Spa. The hotel also owns The Village Pub across the road which has an additional 6 comfy and stylish bedrooms.

Due to the small and intimate size of Barnsley House, the perfect wedding requires taking sole use of the hotel and its facilities for a minimum of one night. This means that all staff are available to take care of your every need— just like having your own country house party.

On any day, the Barnsley House gardens are a lovely place to enjoy a champagne and canapé reception after the ceremony, otherwise the lounges and bar area of the hotel may be used for a drinks reception before the celebration breakfast.

Wedding vows and rings can be exchanged in The Potager Restaurant, or outdoors in front of The Gothic Summerhouse—both can seat up to 100 guests. Alternatively, The Temple is perfect for more intimate ceremonies with up to 40 guests.

Wedding Rates 2020

Weddings are tailored to your specific requirements but the following pages indicate some guideline prices based on the minimum charges for Exclusive Use of Barnsley House Hotel & Spa.

Exclusive Use: Midweek Weddings

October to April

Exclusive Use - Midweek Weddings

October to April | Monday to Thursday

Venue Hire for Exclusive Use of Barnsley House, based on one day - Total: £3,000*

This includes your personal Wedding Co-ordinator (who will help you in the planning of your special day to ensure everything goes smoothly), use of The Gothic Summerhouse (or The Temple, dependent on numbers) and gardens, or The Potager Restaurant for your ceremony (if required); use of the gardens for your photographs; a member of our team to act as Master of Ceremonies; The Potager set up as you like for your Reception (white linen, table plan, place cards and menu cards can be provided) and exclusive use of Barnsley Spa for you and your guests.

A minimum of 18 rooms are required to be booked for one night and there is a minimum charge of 36 guests. (If you would like two nights midweek, please ask for details). **There is no minimum total spend.**

*January & February 2020: Enjoy half-price venue hire.

Accomodation at Barnsley House

(Rates detailed include a 10% discount)

	Per night	No. Rooms	No. Nights	Total
Superior Room	£305.10	3	1	£915.30
Junior Suite	£332.10	2	1	£664.20
The Stables	£386.10	6	1	£2,397.60
Deluxe Garden Room	£458.10	3	1	£1,374.30
Garden Suite	£494.10	2	1	£998.20
Deluxe Garden Suite	£530.10	2	1	£1060.20
Home Farm Cottage	£525.60	1	2	£1051.20

Accomodation Total £8,370.00**

^{**2019} rates have been held for 2020 midweek weddings.

Exclusive Use: Midweek Weddings

October to April

Food & Drink (Estimate for 70 people)

	Per unit	No.	Total
House Champagne	£57.00	35	£1,995.00
Canapés	£15.00	70	£1,050.00
3-course Wedding Breakfast	£56.00	70	£3,920.00
Tea / Coffee & Petit Fours	£4.00	70	£280.00
Wine from	£26.60 (5% discount)	70	£1,862.00
Still / Sparkling water	£4.50	40	£180.00
Bar Drinks	£24.00	70	£1,680.00
Evening Snacks	£15.00	70	£1,050.00

Food & Beverage Total £10,967.00

Exclusive Use - Midweek Weddings

May to September | Monday to Thursday

Venue Hire for Exclusive Use of Barnsley House, based on one day - Total: £4,000

This includes your personal Wedding Co-ordinator (who will help you in the planning of your special day to ensure everything goes smoothly), use of The Gothic Summerhouse (or The Temple, dependent on numbers) and gardens, or The Potager Restaurant for your ceremony (if required); use of the gardens for your photographs; a member of our team to act as Master of Ceremonies; The Potager set up as you like for your Reception (white linen, table plan, place cards and menu cards can be provided) and exclusive use of Barnsley Spa for you and your guests.

A minimum of 18 rooms are required to be booked for one night. (If you would like two nights midweek, please ask for details). **There is a minimum total spend of £22,000.**

Accomodation at Barnsley House

	Per night	No. Rooms	No. Nights	Total
Superior Room	£339.00	3	1	£1017.00
Junior Suite	£369.00	2	1	£738.00
The Stables	£429.00	6	1	£2,574.00
Deluxe Garden Room	£509.00	3	1	£1,527.00
Garden Suite	£549.00	2	1	£1,098.00
Deluxe Garden Suite	£589.00	2	1	£1,178.00
Home Farm Cottage	£584.00	1	2	£1,168.00

Exclusive Use:
Midweek
Weddings

May to September

Accomodation Total

*2019 rates have been held for 2020 midweek weddings.

£9,300.00*

Exclusive Use: Midweek Weddings

May to September

Food & Drink (Estimate for 70 people)

	Per unit	No.	Total
House Champagne	£57.00	35	£1,995.00
Canapés	£15.00	70	£1,050.00
3-course Wedding Breakfast	£56.00	70	£3,920.00
Tea / Coffee & Petit Fours	£4.00	70	£280.00
Wine from	£31.00	70	£1,960.00
Still / Sparkling water	£4.50	40	£180.00
Bar Drinks	£24.00	70	£1,680.00
Evening Snacks	£15.00	70	£1,050.00

Food & Beverage Total £12,115.00

October to April

Exclusive Use - Sunday Weddings

October to April

Venue Hire for Exclusive Use of Barnsley House, based on one day - Total: £2,200

This includes your personal Wedding Co-ordinator (who will help you in the planning of your special day to ensure everything goes smoothly), use of The Gothic Summerhouse (or The Temple, dependent on numbers) and gardens, or The Potager Restaurant for your ceremony (if required); use of the gardens for your photographs; a member of our team to act as Master of Ceremonies; The Potager set up as you like for your Reception (white linen, table plan, place cards and menu cards can be provided) and exclusive use of Barnsley Spa for you and your guests.

A minimum of 18 rooms are required to be booked for one night. (If you would like two nights midweek, please ask for details). **There is a minimum total spend of £22,000.**

Accomodation at Barnsley House

(Rates detailed include a 10% discount)

	Per night	No. Rooms	No. Nights	Total
Superior Room	£314.00	3	1	£942.00
Junior Suite	£341.00	2	1	£682.00
The Stables	£395.00	6	1	£2,370.00
Deluxe Garden Room	£467.00	3	1	£1,401.00
Garden Suite	£503.00	2	1	£1,006.00
Deluxe Garden Suite	£539.00	2	1	£1,078.00
Home Farm Cottage	£539.00	1	2	£1,078.00

Accomodation Total £8,557.00

October to April

Food & Drink (Estimate for 70 people)

	Per unit	No.	Total
House Champagne	£61.00	35	£2,135.00
Canapés	£16.00	70	£1,120.00
3-course Wedding Breakfast	£59.00	70	£4,130.00
Tea / Coffee & Petit Fours	£4.50	70	£315.00
Wine from	£29.45 (5% discount)	70	£2,061.50
Still / Sparkling water	£4.75	40	£190.00
Bar Drinks	£24.00	70	£1,680.00
Evening Snacks	£15.00	70	£1,050.00

Food & Beverage Total £12,681.50

May to September

Exclusive Use - Sunday Weddings

May to September

Venue Hire for Exclusive Use of Barnsley House, based on one day - Total: £4,000

This includes your personal Wedding Co-ordinator (who will help you in the planning of your special day to ensure everything goes smoothly), use of The Gothic Summerhouse (or The Temple, dependent on numbers) and gardens, or The Potager Restaurant for your ceremony (if required); use of the gardens for your photographs; a member of our team to act as Master of Ceremonies; The Potager set up as you like for your Reception (white linen, table plan, place cards and menu cards can be provided) and exclusive use of Barnsley Spa for you and your guests.

A minimum of 18 rooms are required to be booked for one night. (If you would like two nights midweek, please ask for details). **There is a minimum total spend of £25,000.**

Accomodation at Barnsley House

	Per night	No. Rooms	No. Nights	Total
Superior Room	£349.00	3	1	£1047.00
Junior Suite	£379.00	2	1	£758.00
The Stables	£439.00	6	1	£2,634.00
Deluxe Garden Room	£519.00	3	1	£1,557.00
Garden Suite	£559.00	2	1	£1,118.00
Deluxe Garden Suite	£599.00	2	1	£1,198.00
Home Farm Cottage	£599.00	1	2	£1,198.00

Accomodation Total £9,510.00

May to September

Food & Drink (Estimate for 70 people)

	Per unit	No.	Total
House Champagne	£61.00	35	£2,135.00
Canapés	£16.00	70	£1,120.00
3-course Wedding Breakfast	£59.00	70	£4,130.00
Tea / Coffee & Petit Fours	£4.50	70	£315.00
Wine from	£31.00	70	£2,061.00
Still / Sparkling water	£4.75	40	£190.00
Bar Drinks	£24.00	70	£1,680.00
Evening Snacks	£15.00	70	£1,050.00

Food & Beverage Total £12,681.50

October to April

Exclusive Use - Weekend Weddings

October to April

Venue Hire for Exclusive Use of Barnsley House, based on one day - Total: £4,200

This includes your personal Wedding Co-ordinator (who will help you in the planning of your special day to ensure everything goes smoothly), use of The Gothic Summerhouse (or The Temple, dependent on numbers) and gardens, or The Potager Restaurant for your ceremony (if required); use of the gardens for your photographs; a member of our team to act as Master of Ceremonies; The Potager set up as you like for your Reception (white linen, table plan, place cards and menu cards can be provided) and exclusive use of Barnsley Spa for you and your guests.

A minimum of 18 rooms are required to be booked for one night. (If you would like two nights midweek, please ask for details). **There is a minimum total spend of £34,000.**

*January & February 2020: Enjoy half-price venue hire.

Accomodation at Barnsley House

(Rates detailed include a 10% discount)

Per night	No. Rooms	No. Nights	Total
£359.00	3	2	£2,154.00
£395.00	2	2	£1,580.00
£467.00	6	2	£5,604.00
£503.00	3	2	£3,018.00
£566.00	2	2	£2,264.00
£611.00	2	2	£2,444.00
£611.00	1	2	£1222.00
	£359.00 £395.00 £467.00 £503.00 £566.00 £611.00	£359.00 3 £395.00 2 £467.00 6 £503.00 3 £566.00 2 £611.00 2	£359.00 3 2 £395.00 2 2 £467.00 6 2 £503.00 3 2 £566.00 2 2 £611.00 2 2

Accomodation Total £18,286.00

October to April

Food & Drink (Estimate for 70 people)

Friday	Per unit	No.	Total
Informal dinner / BBQ	£47.50	35	£1,710.00
House wine (5% discount)	£29.45	20	£589.00
Sub Total			£2,299.00
Saturday			
House Champagne	£61.00	35	£2,135.00
Canapés	£16.00	70	£1,120.00
3-course Wedding Breakfast	£59.00	70	£4,130.00
Tea / Coffee & Petit Fours	£4.50	70	£315.00
Wine from	£29.45 (5% discount)	70	£2,061.50
Still / Sparkling water	£4.75	40	£190.00
Bar Drinks	£24.00	70	£1,680.00
Evening Snacks	£15.00	70	£1,050.00
Food & Beverage Total			£12,681.50

May to September

Exclusive Use - Weekend Weddings

May to September

Venue Hire for Exclusive Use of Barnsley House, based on one day - Total: £6,000

This includes your personal Wedding Co-ordinator (who will help you in the planning of your special day to ensure everything goes smoothly), use of The Gothic Summerhouse (or The Temple, dependent on numbers) and gardens, or The Potager Restaurant for your ceremony (if required); use of the gardens for your photographs; a member of our team to act as Master of Ceremonies; The Potager set up as you like for your Reception (white linen, table plan, place cards and menu cards can be provided) and exclusive use of Barnsley Spa for you and your guests.

A minimum of 18 rooms are required to be booked for one night. (If you would like two nights midweek, please ask for details). **There is a minimum total spend of £40,000.**

Accomodation at Barnsley House

	Per night	No. Rooms	No. Nights	Total
Superior Room	£399.00	3	2	£2,394.00
Junior Suite	£439.00	2	2	£1,756.00
The Stables	£519.00	6	2	£6,228.00
Deluxe Garden Room	£559.00	3	2	£3,354.00
Garden Suite	£629.00	2	2	£2,516.00
Deluxe Garden Suite	£679.00	2	2	£2,716.00
Home Farm Cottage	£679.00	1	2	£1358.00

£20,322.00

Accomodation Total

May to September

Food & Drink (Estimate for 70 people)

Friday	Per unit	No.	Total
Informal dinner / BBQ	£47.50	35	£1,662.50
House wine	£31.00	20	£620.00
Sub Total			£2,282.50
Saturday			
House Champagne	£61.00	35	£2,135.00
Canapés	£16.00	70	£1120.00
3-course Wedding Breakfast	£59.00	70	£4,130.00
Tea / Coffee & Petit Fours	£4.50	70	£315.00
Wine from	£31.00	70	£2,170.00
Still / Sparkling water	£4.75	40	£190.00
Bar Drinks	£24.00	70	£1,680.00
Evening Snacks	£15.00	70	£1,050.00
Food & Beverage Total			£12,790.00

Food & Drink Pricing

For the bar tab in the evening there is no average cost. However, we recommend allowing at least £25 per head. Please allow one bottle of wine and $\frac{1}{2}$ bottle of champagne per person (two glasses after the ceremony and one glass for the speeches). Canapés are £16 for 5 per person and dinner is from £59.00 per person.

Optional Extras

Children

We can accommodate children in some of the rooms with extra beds so please do request these at the time of booking if you have families wanting to stay so that we can allocate accordingly. Children are charged at £45 per child, per night inclusive of Bed & Breakfast. (Please be aware that these beds are not suitable for adults).

Additional Adults

We do also have a number of extra beds that are suitable for adults and certain rooms will accommodate 3 adults in a room. Please let us know if these are required and the third adult in a room will be charged at £90 per adult, per night inclusive of Bed & Breakfast.

Accomodation at the Village Pub, Barnsley

	Per night (Sun to Thurs)	Per night (Fri to Sat)	No. Rooms
Smart Rooms	£164.00	£184.00	3
Even Smarter Rooms	£184.00	£204.00	3

Marquee Hire

If the wedding party is for greater than 70 persons then a marquee hire is required. For 80 to 120 persons we would recommend a 60' \times 40' frame tent which with furniture, linen, lining, lighting, heating and a service tent etc, would cost in the region of £7,000. (We do ask you to make any enquiries directly with the marquee company).

A charge of £6.50 per person will apply to cover the additional crockery, cutlery and glassware and additional catering equipment costs will be dependent on menu choice.

